a) xy — xz = x{(y4-2) Q) 6x+3= 3(2w)  b)2x+4= 2[x+3
d) 2a+ 2b= 2G+%) f) 6xy — 9y = 3%-(‘&—3) e)7a-7= ¥(a-)

Q) a2+ ab= a(c+) ) 2w +rmws= T (r+s) h)a?+ 4ah= a-(a+bh)
a) Xy — Xz = c) 6x+ 3 = b) 2x + 4 =
d) 2a + 2b = f) 6xy — 9y = e) 7a-7=
g) a2 +ab= i) rim+rws = h) aZ + 4ah =
a) Xy — Xz = c) 6x+ 3 = b) 2x + 4 =
d) 2a + 2b = f) 6xy - 9y = e) 7a-7=
g) a% +ab = i) r2m+rms = h) a2 + 4ah =
a) Xy — Xz = ) 6x +3 = b) 2x + 4 =
d) 2a + 2b = f) 6xy - 9y = e) 7a -7 =
g) a% +ab = i) r2m+rms = h) a2 + 4ah =
a) Xy — Xz = c) 6x + 3 = b) 2x + 4 =
d) 2a+ 2b= f) 6xy - 9y = e) 7a-7-=
g) a2 +ab = ) rés + ras = h) a2 + 4ah =
a) Xy — Xz = ) 6x+3= b) 2x + 4 =
d) 2a + 2b = f) 6xy - 9y = e) 7a-7 =
g) a2 +ab = i) rim + ras = h) a2 + 4ah =
a) Xy — Xz = c) 6x+ 3= b) 2x + 4 =
d) 2a+ 2b= f) 6xy - 9y = e) 7a-7=
g) a? +ab = i) rim+rms = h) aZ + 4ah =
a) Xy — Xz = c) 6x+ 3 = b) 2x + 4 =
d) 2a + 2b = f) 6xy - 9y = e) 7a-7=
g) a2 +ab = i) rim+rus = h) a? + 4ah =
a) xy - xz = ) 6x+3 = b) 2x + 4 =
d) 2a+ 2b = f) 6xy - 9y = e)7a-7=

g) a2 +ab = ) rlm+rms = h) a2 + 4ah =



